Q/ AFM Unit 3 Test Review

5. A I3-foot ladder is leaning against a brick wall 7. In Dewey Beach, building codes resunct the
Name Date: —— The top of the ladder touches the wall 12 fect (f) of building to 50 feet. Study the diagram. ther
above the ground. The bottom of the ladder is 5t determine by how much the building shown 1
. . : 8§ from the bottom of the wall. What is the sinc of | above or below the code restriction
What s ghe tangent of o G the tnangle elow L Swdy the triangle below, the angle formed by the ground and the base of |
8 ’ the ladder? .
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8 A 25-fool wire atlached to an antenna makes 2
I o 30° angle with the level ground, as shown below
I Tram nown heiow =
3 & — o 5 c
P N~ b) 4. In the figure below, if sinx = 3, what arc cosx
7 - (’\ and tanx? . | antenna —
5 6. A 20 meter long cable is used (o support @ ’ 8 A
- 2 telephone pole, holding it perpendicular to the
- 3 ground. If the cable forms a 60° angle with the What is the approximate distance from the hase of
f ¢ pole s he cable be the antcnna to the place where the wire 15 staked
"o = e o » ground, how high up the pole should the cable be P

] | ] attached? 1o the ground?
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@cosx = I and tanx = IV A. 10 meters a 10V3 meters Al 2210 B. 18ft C. 13n D. 28t

B. cosx= % and tanx = % C. 20v2 meters D. 20V3 meters 4 -
i

q ~ %
/cosx:E andtamz:i ';/CO‘/
12 12 QS

w

2l
ohen

=]
A

Cgrate it SEe
""(‘AE)'L ’51’ ) 3

O\l; (uq Q((’%):QO —. gra__ggf}‘
=l ﬁb—?\ﬁ?: a0z =7 ~% 7;@

>~
V\ch

Scanned by CamScanner



L UWmZA=40,a=6and b=

© Wiy SEPRNT 3 A0NRE TR as Al | p\v many distinct
| wiangles can pe egnstrugted?
N2
S b
U - ) /
Qe

at

14 1f mzA =230, a= V5, and b =6, the number of
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18, In AABC. a=8 and b= 8. If the area of AABC ‘ 20. In AABC. AC = 10, BC = 8, mZB = 90° and
g is 16, find m£.C. mZBDA =90°. How long is CD?
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| - K_Z ,—X\ 15. In AABC, a=6, b=10, and m£C = 120. What
’ AJy %‘7 R g e (P 52 AU oS(120)
| vo 6 \S_ ) S_‘D—A_; S VZ/C C/\ ; Le (7:)-: lq (l 19, Find the |r side x. )
= = A0 12 13 e
) C OMS _snC G LE_:\E ¢ ub o L VTN
\%S\(\ C -/Si—l—:’:- -—\—(—)—' 16. [nlAABC.a=l.b= Tand mZC = 120. The
% ' 7 ; . value of ¢ is [i : '_‘\ 5 = N K \
C/— i _;:. s=t e smA=1i LABC, then sinB o 5 V3 c vis é i ! - T ;) n .—)
O A i B :f C i D3 Ca = (24 la’go)(‘) C@S(‘?‘O) I —
[ Ne G _sn L =% }
& V) —_— - e 17. The arca of AABC is 100 square centimeters. I B ; A
Qs % —;3‘9/ 4 ) N 20 centimeters and mZA = 30, then b is equal = \ — (O‘:j LINY-X
gl mnIE | ) 29 K
i $,q ' ! 20cm B. 500cm C ) . ‘»;— = C/Z
| Al g2 C3 .0 C. 20/3em D. 10vZem 'b( 1~ X + Q ~lH+320x-X" . v
" \
exégc. ooz (esdesn(E0) HAY o'l
ox=As
ey -

\00= (BLE (30
O\ NG
vz s

paged

20 20

x=0bY

Scanned by CamScanner



